Radioactive Dating Worksheet Answers
1.  1       When 50% is left it has gone through 1 half-life (1.3 billion years for K-40)

2.  2       All the C-14 will be gone after approx 50, 000 years; the earth is 4.6 billion yrs 

  old.

3.  3      The half life of a radioactive substance never changes

4.  3      The half life of a radioactive substance never changes

5.  1      C-14 is used to date living things that are 50,000 years old or younger

6.  2
 Look at 50% remaining on the Y-axis, follow it over to the line and look down to 
the X-axis.  It will tell you how much time goes by when 50% of the substance is 
gone.

7.  3     Read the graph the same way you did in #6; just look at 35% instead of 50%.

8.  1     As each half life goes by there is less of the actual substance left; but half of what 

is left always decays to the stable form.

9.  4     The line seems to be touching the X-axis (value of zero) at a time greater than 350 
billion years. 

10.  3     Nothing can change the half life of a substance.

11.  1     See the answer to #5 above.

12.  3
  U-238 has a half life of 4.5 billion years; same as the age of Earth (See ESRT)

13.  2
   2 half lives of carbon 14 equals 11,400 years (5,700 years X 2 half lives).  So 
  
    you pick the bar that represents 2.
14.  4
   U-238 has a half life of 4.5 billion years, so after that time (one half life) there 
  
   will be half of the original sample left radioactive.
15.  4
   The gentlest slope will represent the longest half life because it takes the longest 
    time to reach 50% on the graph’s Y-axis.  
